MPM1D


POLYNOMIALS – WORD PROBLEMS
PART A: THE BASICS
1.   The sum of the perimeter of two shapes is 20x + 4y.  The shape of one of these perimeters is 13x + 3y.  What is the perimeter of the other shape?
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2.    A football field has a perimeter of (12a – 6) meters and a width of (3a) meters. What expression represents the length of the field? 



3.   The triangular logo of a video store is shown on the right.

      The height is (6x +1) meters, the base is (4x2 + 2x – 8) m and the perimeter is (12x2 +18x +12) m.  

      What is the algebraic expression that represents the length of the slanted side of the logo?

PART B: PROBLEM SOLVING

4.  The shaded area represents a cement walkway around a pool. State the algebraic expression that

     represents the difference between the outside perimeter of the walkway and the perimeter of the pool.
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5.  The perimeter of triangle ABC is given by the algebraic expression 5x2 + 3x

 What is the simplified algebraic expression for the area of rectangle ACDE?
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6.   A house is built on a rectangular lot with dimensions in metres as shown. The shaded area represents

      his lawn.  
      What is the algebraic expression that represents the area of his lawn?


                                                      

7. The figure below is composed of a square, a triangle, and a rectangle. The algebraic expressions for some of the   

     dimensions are given.  What is the simplified algebraic expression for the total area of the figure?
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8.  In the triangle below, the shaded area represents the portion of the figure that will be painted. 

     Give the algebraic expression that represents the portion that is to be painted.
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TRICKY!

	9.  A flower garden has grass planted around it.  The flower garden’s length is increased by 4 meters and its width by x meters as illustrated in the adjacent diagram.  This extension forms the grass yard. 

     What is the area of the grass yard?
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10. Who has the biggest backyard? Drawings are NOT drawn to scale. Show all your work!
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